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2000174(015)

Diploma in Engg. (First Semester) Examination,
April-May 2021

(NITTTR Scheme)
(Civil, Electrical, CSE, ET&T, IT, Inst. Engg. Branch)
APPLIED PHYSICS
Time Allowed : Three hours
Maximum Marks : 70
Minimum Pass Marks : 25

T : G FV 5 A A & 5 7% [ 55
fawta 7 foran 811 fdt ot 7HR & g2 37gar
faare &1 fefa & s 9T & §97 &) a9
HIAT SI@T |

Note : All questions are compulsory unless mentioned

otherwise. In case of any doubt or dispute
English version should be treated as final.

TT3-1

Unit-1
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1. () ol fowcom # weme A F o= T
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[2] [31°
TS & S9N S/ P R W, m’ (b) Frafafea e il & fada g fafae—
A, v A U1 Y gNE 99 @ e gl s 3, v o, fagqa fase, I yeamemn Tor,

2 AT 0T |
. mv
Check the correctness of the relation F = Tt

' ' , Write the dimensional equation of following Physical
where, ‘F” is the centripetal force, ‘m’is the mass,

. . . : . uantities :
‘v’ is the velocity and ‘7’ is the radius of the circular q

path, using dimensional analysis. Momentum, Angular velocity, Electric potential,
Young’s Modulus of elasticity, Coefficient of

(b) smafes Ffe, s Afe w@ wfawm Ffe A aRenfa

Viscosity.
HIfT | 7 4 Ui o R0 vy 77 5
Define relative error, absolute error and percentage -1
error. What is the relation between these three Unit-11
quantitites. 2. (a) TFST 91 Th ST 9 § | F ? THeh YR W
YT gy ¥ wim feem ® weie @ sEfafy o
Or RLEIR
(a) To Sfto THo THfa W TREg R ‘g’ &1 | 980 Centrifugal force is a pseudo force. Why? Explain
cm/sec? ¥ | far faveiwo =) Te@d | 59 °HE HI the working of machine seperating cream from milk.
THo o Efd H wiefia wifsgl 5 (b) TF 1 Yeareal &1 from fafew qon gaemsu)
The value of acceleration due to gravity ‘g’ is State and explain Hooke’s law in elasticity.
980 cm/sec? in C. G S. system. Using dimensional () V¥ From ¥ g wA wem ¥ i w0 T

analysis convert this value in S. I. system.

fave & diug a1 & faq =iwek 31d st
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Derive a formula for terminal velocity of an object
falling through a viscous medium by using Stoke’s

law.

Agqar
Or

(a) oot T ST 31y W U ¥ Teed @0 ‘g W
T WE TS R ?

What is the effect of rotation of earth on the value

of acceleration due to gravity ‘g’.

(b) R fafy g0 T a8 & fau ¥ o=
i

Derive a relation for surface tension by capillary

rise method.

yoTd- I
Unit-II
3. (a) IR =1 1 1 FaeT B 7 yahIfeh g & 9

I fafew

What is the principle of optical fiber? Give some
applications of optical fibers.

2000174(015)

(s]-
(b) Tadau emar Y wfeenfia wifsw) 2 ol =t fovd
TR Gafaa w4 foed & Ty &t few A
g & o fogem Sa= fvar =1 w6 2 10

Define Dispersive Power. How will you combine
two prisms so as to produce deviation without

dispersion of given ray of light?
AIqAT
Or
(a) arfeosh R emrEt TeNE F ¥ 7 STUeRAIH
Trafass R swE TewE ¥ fRw YRR Wi
77 5
What is Real Depth and Apparent Depth? How

refractive index is related to real and apparent
depth?

(b) Tea qEeRt A Wik gueR § HR wgenm W
FEm B2 I & Y@ifed e wWE ®itwgl 10

How can an astronomical telescope be converted
to terrestrial telescope? Explain by drawing ray

diagram of both the telescope.
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FHE-IV
Unit-IV
4. (a) TR forE % orwia o w1 fraw fafew) @
TET A Th FAA Saw w afenfia wifey |

State Coulomb’s law in electrostatics. Also define

one Coulomb’s charge using it.

(b) TAYT VA F FHER © 2 ey weed f5h
FEd ¢ 7
What do you mean by dielectrics? What is meant

by Dielectric Strength?
(c) srdre daré w1 faw fafaw)
State Biot-Savarts Law.

AYAT
Or

(2) D THRR YNETE e T d few § uw
yafed B T ISR STHNY BT © | U | SEt
AMYR | TH TR 9 s it st

Two parallel current carrying conductors attract each

other when current flowing through them is in the
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(71
same direction. Explain. On the basis of it define 1

Ampere current

) et d@ & omofw whRw @ w| aed §2?

favemrdt &1 Sw W fEd 9@ & st
Wy fFY TR F@ fem o1 wm § 2
What do you mean by internal resistance of a cell?

How can potentiometer be used to calculate internal

resistance of a cell?

RS-V

Unit-V

5. (a) WA T& 1 Bl § 2 TUFA T I+ HL bt

FH-wH W fafual €2 fadt w fofu =1 fo=
gigd auiq wifeg | '
What are ultrasonic waves? What are the methods

of production of ultrasonic waves? Explain any one

method with the help of a diagram.

(b) T ShI, FehiTTeR Uit den gk e

Q 9 = g ¥ ?

10
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What do you mean by the terms population inversion,
optical pumping and active system?
HAYAT
Or
(2) Yo @ @7 w0 ¥2 vew fagm Q@ fram
TR F TN §2 7% $9 ge Swm fafaw 10

What is a photoelectric cell? How many types of
photoelectric cell are there? Give chief applications

of them.

(b) w1 foega wore & Q@ emgfa & w0 aE 825
‘What do you mean by threghold frequency in Photo-

electric effect?
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